Pre — Calculus Name; V]QL&

REVIEW: Unit A (Chapter 1)

Part One: Calculator Use Allowed

For numbers 1 — 5, circle the letter for the correct answer. \
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1. Which relation is a function? Circle all that apply.
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3. Which of the following results in the graph of f{x) = x? being cm_r_%f_d‘%f&lmaﬂy and reflected over the x—axis?
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a)f(x)% b) fix) = —3x? c) fix)=— xl_z +3 d)j(x) — _%xz

4. Which function has an inverse that is also a function?
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5. Given the parent function p(x) = x*, what transformation occurs in the graph of p(x) = (—=3x — 7)3?
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6. Create a graph that represents each type of discontinuity on the graphs below. Your graphs do not have to be based on a specific
equation, rough sketches are fine.
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7. Given f{x) = x? — 2x, find {4 — x).
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8. Given the function g(x) = 3x% — 2x:
a. Describe the intervals on which the function is increasing and/or decreasing.
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b. Describe the end behavior of the function.
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9. What is f{_2) for fix) {x3 RN
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10. Given the function f(x) = —x? + 2x, state: where the function is increasing/decreasing, relative maximum(s) and relative

minimum(s), absolute extrema(s) and the end behavior.

:E\(rq,s\ws,' (“.82l '92‘) Ea Beﬁcvrur;

0%
\ \/ﬂ\(,gz‘i ) Daﬂ,f‘wﬂhj‘_ C-u,«.az);} Csz‘oo)
- 2ol mmn? (-.82-1.0% .
('.b’t’}él &‘ Pol moxt C !,z'(.O‘E) X&’FG“) = -0
fbs extre~g ! oA

_ . ,é«—» ]CG‘) z No
11.1f ﬂ?_: :ﬁ: and g(x) ?-2; : i', s'md (f+ g)(x) and state its domain. sy O3
(x-5)+ (2x-1 D
i?x-r_[ l =g (.’Miw>

12. Describe the transformations relating the graph of g(x) = % (x-1)? to the graph of its parent function f{x) = x2
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Part Two: No Calculator Allowed
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13. State the domain and range of the function shown. Use interval notation. N ( 7 3 )
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14. If ix) = x + 4 and g(x) = —IE , find (f * g)(x) and its domain and (ﬁ) (x) and its domain.
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find g(f (x)).
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16. Find the inverse of f{x) = x3 — 6 and state its domain.
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17. Given f(x) = 5x? + 2 and g(x) = —x + 7, find f(g(-3)).
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15. If flx) = x + 4 and g(x)

Graph each function. Rememb/e:w.m’.l.iwr graphing calculator ©.
18. p(x) = (x +2)3 - 1 -T -1\ 19. g(a) = —|x+2| - 1
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